Multiplication Tables

2X o =12
2 X =6
2 X =22
2 X =18
2 X =2
2 X =24
2 X =20
2 X =14
2 X =8
2 X =4
2 X =16
2 X =10
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3X2= o 3x 8= ... 3 X =27 21+3=. . ...
3X3= 3x 6= ... 3 X =6 33+3= ...
3x4= ... 3xX 1= ... 3 X =33 27+3=. ..
3X5= . 3x10=__ . .. 3 X =12 12+3= ...
3X6= ... 3X 3= 3 X =36 3+3=
3XT= . 3xA1=_ ... 3 X =3 18+3= ...
3x8= . 3x 5= ... 3 X =24 30+3= . ...
3X9= 3X 7= . 3 X =18 16+3= ...
3x10= ... 3x 4= ... 3 X =9 36+3= . . ..
3x11= .. 3x 9= ... 3 X =30 24+3=. . ...
3x12= ... 3x12=_ ... 3 X =21 6+3= ...
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42 = ... 4x 8= . 4 X =12 44+4= . ..
A3 = . 4x 6= . 4 X =36 28+4= .
4x4= ... A4x 1= 4 X =48 40%4=.. ..
4x5= .. 4x10= .. 4X. =4 48+4=. ...
46 = ... 4x 3= 4 X =24 16+4= ..
AXT = ... AxA1 = 4X. =44 32+4= ...
48 = ... 4x 5= . 4X. =16 20%4= ..
49 = o X 7= QX =32 36%4= ...
4x10= . 4x 4= ... 4X. =8 24+4= ..
A1 = 4x 9= . 4 X =40 8+4=. . ...
4x12= . .. 4x12= .. 4X. =20 4+4= ...
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.......................... S5x2= . 5X ... =35 30+5= ...
.......................... 5x 8= ... 5Xci. =18 60+5=_ ...
.......................... 5x 6= ... 5X.. =80 16+6=_ ...
.......................... S5x 1= ... 5Xi. =25 50+6=_ ..
.......................... 5x10=_ . ... 5X.. =8 20+5=_ ...
.......................... 5x 3= 5X.. =40 35+6= ...
.......................... Sx11= ... 5X.. =20 5+6=
.......................... 5Xx 5= 5X.. =60 45+5= ...
.......................... S5X 7= 5X.. =30 25%56=_ ...
.......................... S5x 4= ... 5X.. =45 565+6= ...
.......................... 5x 9= ... 5X. =10 10+6=_ ...
.......................... S5x12= ... 5X...=55 40+5=. ..
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.......................... 6x2=_ . 6x . =24 ABF0=.
.......................... 6x 8= . 6X...... =66 36+0%
.......................... 6x 6= 6x...... =18 18562
.......................... 6x 1= . 6x...... =54 00562
.......................... 6x10=__ 6x...... =36 2456=
.......................... 6x 3= 6x .. . =6 0656
.......................... 6x11=____ 6x...... =48 AZF0%
.......................... 6x 5= . 6X...... =60 12505
.......................... 6X 7= . 6x...... =30 12505

.......................... 6x 4= 6x.... =12 OF0%
= 6X 9= . 6 X =7 4F0=
.......................... 6x12=__ . 6x...... =42 3056
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.......................... TX2= ... 7%....... =56 77=7= ..
.......................... 7TxX 8= ... TXoo. =14 28+7=
.......................... 7TxX 6= ... [0, ST & { 70+7=
.......................... Tx 1= .. 7X.... =28 49+7= ...
.......................... 7x10=__ ... 7X.ooo.. =49 7=7= .
.......................... 7TX 3= T X =1 56+7=. ...
.......................... Tx 1= ... 7X......=63 35+7= ...
.......................... 7TX 5= . 7X...=35 84+7= ...
.......................... TX 7= . 7X..o..... =84 14=+7= ...
.......................... 7Tx 4= ... 7% =21 63+7= .
.......................... 7TxX 9= ... 7% =170 42+7= ...
.......................... 7Tx12= ... 7TXo. =42 21+7= ...
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48+8=.. . ...
88+8=. . ..
16+8=. ..
80+8=.. . ...
56+8=.. ...

24+8=. ...
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OX o =27
O X =63
O X =99
O X =36
O X =90
O X =18
O X =108
O X =72
O X =45
O X =9
O X =81
DX =54

27+9= .
63+9= . ...
99+9= ...
36+9= ...
72+9= ...

45+9= . ..
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